Garland Independent School District

GISD Sourcing Bid Tab Report

Bid#: 31568	Title: 141-17
	Commodity
31568	Processing

Quote# Vendor / Supplier		Discou
470024 *ADVANCE FOOD CO INC	since	
469094 ADVANTAGE WAYPOINT LLC		0.0% on
469038 ALPHA FOODS CO	No	
470035 ASIAN FOOD SOLUTIONS	Yes	
469089 BONGARDS CREAMERIES	Yes	
469026 BROOKWOOD FARMS INCORPORATED	Yes	N/A
469063 *CALFED FINANCIAL CORP DBA RED GOLD LLC	Yes	0
469049 CARGILL KITCHEN SOLUTIONS	No	NA
469019 CONAGRA FOODS INCORPORATED	No	N/A
469060 *ES FOODS	Yes	0
469056 *FOSTER POULTRY FARMS DBA FOSTER FARMS	Yes	0
469050 GIORGIO FOODS INC	long	n/a
469074 GLANBIA NUTRITIONALS INCORPORATED	yes	0%
469042 GOODMAN FOOD PRODUCTS DBA DON LEE FARMS	YES	5,000
469079 INTEGRATED FOOD SERVICE	Yes	N/A
469051 JENNIE O TURKEY STORE SALES LLC	Yes	0
469048 JTM PROVISIONS CO INC	Yes	18%
470030 LAMB WESTON SALES INC	No	0
470033 MAID RITE SPECIALTY FOODS LLC	Yes	Pricing
469084 *MCCAIN FOODS	YES	N/A
470032 MICHAEL FOODS	Yes	0
469020 *NARDONE BROS BAKING CO INC	no	no
469078 NATIONAL FOOD GROUP INC	YES	N/A
469001 OUT OF THE SHELL LLC DBA LINGS	long	No
469067 RICH CHICKS, LLC	YES	N/A
469070 ROSE & SHORE	Yes	0
469058 SCHWANS FOOD SERVICE	Yes	N/A
469025 TASTY BRANDS LLC	Yes	N/A
469093 TYSON PREPARED FOODS INC CHEF'S CORNER FOODS	mutual	N/A
OTILI O CONTALIN I CODO		

4BV-Best overall value for this group of items 3TQ - Taste quality of product unacceptable 8DB - Did not bid all items

1NL- Not low when unit price is calculated

Line#	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price
		(* , *)						
1	(USDA-P) BEEF LOT 1, BEEF PATTY, 51% WHOLE GRAIN BREADING, 0 GRAMS ARTIFICIAL TRANS-FATS	Υ		cs	*ADVANCE FOOD CO INC			
					COODMAN FOOD PRODUCTS DRA DONU FE			
				cs	GOODMAN FOOD PRODUCTS DBA DON LEE FARMS	1500	\$23.35	\$35,025.00
				cs	JTM PROVISIONS CO INC	1500	\$32.43	\$48,645.00
	(USDA-P) BEEF LOT 1, STEAK FINGERS, 51% WHOLE							
2	GRAIN BREADING, FULLY COOKED, STICK SHAPED, 0 GRAMS ARTIFICIAL TRANS FATS	N			GOODMAN FOOD PRODUCTS DBA DON LEE FARMS	2500	\$22.79	\$56,975.00
			4BV-					
		Υ	Lot 1	cs	*ADVANCE FOOD CO INC			
				cs	JTM PROVISIONS CO INC	2500	\$35.00	\$87,500.00
	(USDA-P) BEEF LOT 1, BEEF PATTY, FULLY COOKED, ROUND SHAPE TO FIT 4" HAMBURGER BUN, PROMINENT							
3	CHAR-MARKS, 0 GRAMS ARTIFICIAL TRANS FATS	Υ		CS	*ADVANCE FOOD CO INC			
					GOODMAN FOOD PRODUCTS DBA DON LEE		405.00	****
				CS	FARMS	5000	\$25.23	\$126,150.00
				cs	JTM PROVISIONS CO INC	5000	\$28.00	\$140,000.00
							+20.50	Ţ. 10,000.00
				cs	MAID RITE SPECIALTY FOODS LLC	5000	\$30.90	\$154,500.00
	(USDA-P) BEEF LOT 1, BEEF STEAK PATTY, 10# CASE,							
	100% BEEF (80%/20% MEAT/FAT RATIO, NATURAL SHAPED WITH CHAR MARKS, FULLY COOKED, NO							
4	ARTIFICIAL FLAVORS OR COLORING PREFERRED	Υ		EA	*ADVANCE FOOD CO INC			
					GOODMAN FOOD PRODUCTS DBA DON LEE			
<u> </u>				EA	FARMS	2500	\$24.45	\$61,125

		Award						Extended
Line#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				EA	JTM PROVISIONS CO INC	2500	\$27.46	\$68,650.00
				EA	MAID RITE SPECIALTY FOODS LLC	2500	\$30.90	\$77,250.00
	(USDA-P) BEEF LOT 1, BEEF CRUMBLES, FULLY COOKED,							
5	IQF, MEDIUM GRIND, LIGHTLY SEASONED, 100% FULLY COOKED, BOIL IN BAG, 0 GRAMS ARTIFICIAL TRANS FATS	N		cs	JTM PROVISIONS CO INC	2000	\$19.29	\$38,580.00
		Υ	4BV- Lot 1	cs	*ADVANCE FOOD CO INC			
				cs	GOODMAN FOOD PRODUCTS DBA DON LEE FARMS	2000	\$26.46	\$52,920.00
				cs	MAID RITE SPECIALTY FOODS LLC	2000	\$31.20	\$62,400.00
	(USDA-P) BEEF LOT 1, BEEF MEATBALLS, 0.5 OZ LEAN							
	ALL BEEF MEATBALLS W/LIGHT ITALIAN SEASONING, 3 GRAM FAT MAXIMUM, 25 CALORIES PER MEATBALL							
6	MINIMUM	Υ		CS	*ADVANCE FOOD CO INC			
					GOODMAN FOOD PRODUCTS DBA DON LEE			
				CS	FARMS	2500	\$25.83	\$64,575.00
				CS	JTM PROVISIONS CO INC	2500	\$28.00	\$70,000.00
				CS	MAID RITE SPECIALTY FOODS LLC	2500	\$32.40	\$81,000.00
	(USDA-P) BEEF LOT 1, BEEF STEAK SLICED, FULLY							
7	COOKED PHILLY STYLE, 0 GRAMS ARTIFICIAL TRANS FATS, BELOW 400MG SODIUM, GLUTEN FREE, 30# CASE	N		cs	JTM PROVISIONS CO INC	2000	\$28.38	\$56,760.00
		N		cs	MAID RITE SPECIALTY FOODS LLC	2000	\$45.60	\$91,200.00
			4BV-					
		Υ	Lot 1	cs	*ADVANCE FOOD CO INC			
	(USDA-P) EGG LOT 1, EGG PATTY, GRILLED, ROUND, 1.25 OZ PORTION SIZE PRE-COOKED, MICHAELS #85017 OR							
8	EQUAL	N	зто	cs	CARGILL KITCHEN SOLUTIONS	400	\$29.04	\$11,616.00
		Υ		cs	MICHAEL FOODS	400	\$34.76	\$13,904.00
	(USDA-P) EGG LOT 1, EGG, SCRAMBLED, BOIL IN BAG,							
9	MICHAELS #54246 OR EQUAL	N	3TQ	CS	CARGILL KITCHEN SOLUTIONS	400	\$21.15	\$8,460.00
		Y		CS	MICHAEL FOODS	400	\$22.41	\$8,964.00
	(USDA-P) EGG LOT 1, FRENCH TOAST STICKS, CINNAMON							
10	OR MAPLE GLAZED, 51% WHOLE GRAIN BREAD DIPPED IN EGG BATTER, BULK PACKED, 20# CASE	Y		cs	MICHAEL FOODS	3000	\$33,30	\$99,900.00
				cs	CARGILL KITCHEN SOLUTIONS	3000	\$36.29	\$108,870.00
	(USDA-P) EGG LOT 1, FRENCH TOAST STICKS, CINNAMON		İ					-,-
	OR MAPLE GLAZED, 51% WHOLE GRAIN BREAD DIPPED IN EGG BATTER, INDIVIDUALLY WRAPPED IN OVENABLE							
11	WRAP, 20# CASE	N	3ТQ	cs	CARGILL KITCHEN SOLUTIONS	1250	\$44.39	\$55,487.50
		Υ		cs	MICHAEL FOODS	1250	\$64.69	\$80,862.50
	(USDA-P) QUESADILLA, OR WRAP, BREAKFAST, FROZEN, INDIVIDUALLY WRAPPED, FILLED W/EGG, CHEESE,							
12	COOKED SAUSAGE CRUMBLES, 51% WHOLE GRAIN TORTILLA	N	зто	Ce	CARGILL KITCHEN SOLUTIONS	2000	\$43.51	\$87,020.00
12	ONTIESA	IN	31Q	0.0	OSNOLE REGILE GOLUTIONS	2000	Ψ-υ.υ!	ψ01,020.00
		v		CS	*FOSTER POULTRY FARMS DBA FOSTER FARMS			
<u> </u>	<u> </u>	Y	لتتسا	US.	FARWS			

Line#	trans Desembertless	Award	D		0	01	Dulan	Extended
	Item Description (USDA-P) TURKEY LOT 1, TURKEY BREAST STEAK,	(Y/N)	Reason	UOM	Supplier	Qty	Price	Price
	FROZEN, PRE-SLICED, FULLY COOKED, APPROX 1.41 OZ PER SLICE, READY TO USE LEAN TURKEY BREAST MEAT, NO ALLERGENS OR GLUTEN, JENNIE 0 #2303-24 OR SIMILAR	Y		cs	JENNIE O TURKEY STORE SALES LLC	500	\$65.65	\$32,825.00
	(USDA-P) TURKEY LOT 1, TURKEY BREAST SLICED, 400 MAX SODIUM PER 2 OZ MMA, OVEN ROASTED, WHOLE MUSCLE, SKINLESS, EXTRA LEAN, NO ALLERGENS OR							, , , , , , , , , , , , , , , , , , , ,
	GLUTEN, JENNIE 0 #A-534/100124 OR SIMILAR, 12# CASE (USDA-P) TURKEY LOT 1, TURKEY COMBO PACK, ITALIAN, 0.5 OZ SLICES OF TURKEY HAM, TURKEY SALAMI, TURKEY SALAMI, TURKEY PEPPERONI PACKED	Y		cs	JENNIE O TURKEY STORE SALES LLC	500	\$21.48	\$10,740.00
	SEPARATELY IN 1 LB PACKAGES, NO ALLERGENS OR GLUTEN, 12# CASE	Υ		cs	JENNIE O TURKEY STORE SALES LLC	300	\$25.56	\$7,668.00
	(USDA-P) TURKEY LOT 1, TURKEY HAM, SLICED, TURKEY THIGH MEAT, SKINLESS, .5 OZ, DELIVERED FROZEN, NO ALLERGENS OR GLUTEN, 12# CASE	Y		cs	JENNIE O TURKEY STORE SALES LLC	300	\$22.20	\$6,660.00
	(USDA-P) TURKEY LOT 1, TURKEY CHORIZO SAUSAGE CRUMBLES, DARK/WHITE MEAT BLEND, FULLY COOKED IQF	Y		cs	JENNIE O TURKEY STORE SALES LLC	500	\$82.40	\$41,200.00
	(USDA-P) TURKEY LOT 1, TURKEY CRUMBLES, DARKWHITE MEAT BLEND, NO FILLERS, FULLY COOKED IQF, NO ALLERGENS OR GLUTEN	NA		cs	JENNIE O TURKEY STORE SALES LLC	500	\$88.80	\$44,400.00
	(USDA-P) TURKEY LOT 1, TURKEY BACON, SLICED, DARKWHITE MEAT BLEND, FULLY COOKED, FROZEN, NO MORE THAN 100MG SODIUM PER SLICE, NO ALLERGENS,			~~				****
	7.5# CASE (USDA-P) TURKEY LOT 1, TURKEY FRANKS, 8/1, MADE FROM SKELETAL MEAT ONLY, FAT NOT TO EXCEED 20%, NO MORE THAN 300 MG SODIUM PER SERVING, NO ARTIFICIAL FLAVORS OR COLORS, NO ALLERGENS OR GLUTEN. AWARD WILL BE BASED ON TASTE AND	Y		CS	JENNIE O TURKEY STORE SALES LLC	300	\$72.53	\$21,759.00
	OVERALL QUALITY (USDA-P) TURKEY LOT 1, TURKEY MEATBALLS, FULLY COOKED IQF MEATBALL, DARK/WHITE MEAT BLEND, TO	Y		CS	JENNIE O TURKEY STORE SALES LLC	3000	\$33.80	\$101,400.00
	CONTAIN NO SOY (USDA-P) TURKEY LOT 2, TURKEY TACO MEAT, FULLY COOKED GROUND TURKEY, 54/46% COMMODITY MEAT RATIO, DARK AND WHITE MEAT, NO FILLERS, PRE- SEASONED WITH MILD TACO SEASONING, FROZEN, BOIL IN BAG, CONTAINS NO ALLERGENS OR GLUTEN, 6/5# OR SIMILAR	Y	8DB		JENNIE O TURKEY STORE SALES LLC JTM PROVISIONS CO INC	2500 5265		\$168,000.00 \$150,105.15
22	Omicary	Y	800		JENNIE O TURKEY STORE SALES LLC	5265		\$190,171.80
	(USDA-P) TURKEY LOT 2, TURKEY CHILI, FULLY COOKED, BOIL IN BAG, CONTAINS NO ALLERGENS OR GLUTEN, 6/5# OR SIMILAR	Y			JENNIE O TURKEY STORE SALES LLC	2000	\$36.12	
	(USDA-P) TURKEY LOT 2, TURKEY SPAGHETTI MEAT SAUCE, FROZEN, FULLY COOKED, DARK/WHITE MEAT BLEND, BOIL IN BAG, PRE-SEASONED, CONTAINS NO ALLERGENS OR GLUTEN	Y		رم	JENNIE O TURKEY STORE SALES LLC	2500	\$36.12	\$90,300.00
	(USDA-P) PORK LOT 1, BAR-B-Q PORK, LOW SODIUM TEXAS WESTERN SAUCE, FULLY COOKED, GLUTEN AND TRANS-FAT FREE, NO MORE THAN 250MG SODIUM PER CN SERVING, FINAL USAGE DEPENDS UPON USDA DONATED PRODUCT AVAILABILITY	Y			BROOKWOOD FARMS INC	1500		
	(USDA-P) TOMATO LOT 1, SALSA, MILD, ENHANCED, CHUNKY CONSISTENCTY, TOMATO BASED, TOMATO, ONION, JALAPENO, AND GARLIC NOTES, SHELF STABLE LIFE MINIMUM 24 MONTHS, RED GOLD REDSC99 OR EQUAL	Y		cs	*CALFED FINANCIAL CORPORATION DBA RED GOLD LLC			
	(USDA-P) TOMATO LOT 1, MARINARA SAUCE, MEATLESS, CANNED, TOMATO BASED, THICK, COARSE TEXTURE, WITH ITALIAN HERBS AND SPICES, NO MORE THAN 150mg SODIUM PER 1/2 CUP SERVING, NO HIGH FRUCTOSE CORN SYRUP, RED GOLD #72940-88206	Y			*CALFED FINANCIAL CORPORATION DBA RED GOLD LLC			
	(USDA-P) TOMATO LOT 1, KETCHUP, PC, SINGLE SERVING FOIL POUCHES, 9.0 GRAMS, ALL NATURAL			cs	JTM PROVISIONS CO INC *CALFED FINANCIAL CORPORATION DBA	2000	\$25.94	\$51,880.00
	25mg SODIUM PER PACKAGE, RED GOLD #72940-11584 (USDA-P) TOMATO LOT 1, ENCHILADA SAUCE, SODIUM NOT TO EXCEED 150mg PER 60 GRAM SERVING, RED GOLD #72940-11587 OR SIMILIAR	Y			RED GOLD LLC *CALFED FINANCIAL CORPORATION DBA RED GOLD LLC			

Line#	Item Description	Award	Reason	ПОМ	Supplier	Qty	Price	Extended Price
Lines		(1714)	Reason	OOM		Qty	Trice	Title
30	(USDA-P) TOMATO LOT 1, RED GOLD SALSA PORTION CUP, 3oz EACH, NO MORE THAN 75mg SODIUM PER CUP	Υ		cs	*CALFED FINANCIAL CORPORATION DBA RED GOLD LLC			
31	(USDA-P) TOMATO LOT 1, RED GOLD MARINARA CUP, 2.5oz EACH, NO MORE THAN 250mg SODIUM PER CUP	Y		cs	*CALFED FINANCIAL CORPORATION DBA RED GOLD LLC			
	(USDA-P) APPLES LOT 1, APPLESAUCE CUP, 4.5oz MINIMUM WEIGHT SEALED CUPS, 18 MONTHS DRY SHELF STABLE, 100% VITAMIN C, NO HIGH FRUCTOSE CORN SYRUP, FLAVORS TO INCLUDE UNSWEETENED PLAIN, UNSWEETENED CINNAMON, UNSWEETENED PEACH,							****
32	BLUE RASPBERRY, AND WATERMELON	Υ		cs	NATIONAL FOOD GROUP INC	2000	\$18.24	\$36,480.00
33	(USDA-P) APPLES LOT 1, MIXED FRUIT CUPS WITH DICED APPLES, DICED PEARS, 4.5oz, PACKED IN 100% JUICE	Υ		cs	NATIONAL FOOD GROUP INC	2000	\$36.00	\$72,000.00
34	(USDA-P) POTATOES LOT 1, FRENCH FRIES, 3/8" REGULAR CUT, ZERO GRAMS TRANS FAT, CLEAR COATED TO PROMOTE EXTRA HOLDING TIME, EXTRA LONG FANCY PRACTICALLY FREE FROM DEFECTS, UNIFORM SIZE AND COLOR, OVENABLE, 30z, 120 CALORIE MINIMUM SERVING, MAXIMUM 8 GRAMS FAT	N	зто	cs	LAMB WESTON SALES INC	11500	\$12.37	\$142,255.00
	(USDA-P) POTATOES LOT 1, TATER TOTS, PRODUCT	Υ		cs	*MCCAIN FOODS			
35	MUST BE SUITABLE FOR BAKING NOT FRYING, 3oz, 120 CALORIE MINIMUM SERVING, MAXIMUM 8 GRAMS FAT	Υ		cs	*MCCAIN FOODS			
35				cs	LAMB WESTON SALES INC	4000	\$17.62	\$70,480.00
36	(USDA-P) CHICKEN LOT 1, CHICKEN BREAST PATTY, 51% WHOLE WHEAT GRAIN BREADING, PRE-COOKED, MADE FROM BREAST AND RIB MEAT ONLY, 3.53oz NATURAL SHAPE	Υ		cs	TYSON PREPARED FOODS INC	2000	\$38.40	\$76,800.00
37	(USDA-P) CHICKEN LOT 1, CHICKEN BREAST FILET, CHARBROILED, PRE-COOKED AND OVEN READY, BREAST SHAPED, MADE FROM BREAST AND RIB MEAT ONLY, MAY CONTAIN MINIMAL PROTEIN ISOLATES FOR BINDER, 90% FAT FREE, TYSON #38350 OR EQUAL	Y		cs	TYSON PREPARED FOODS INC	4000	\$27.20	\$108,800.00
38	(USDA-P) CHICKEN LOT 1, CHICKEN DARK MEAT STRIPS, FULLY COOKED WITH GRILL MARKS, MADE FROM BONELESS, SKINLESS, WHOLE MUSCLE THIGH/LEG MEAT, TYSON #16702-928 OR EQUAL	Υ			TYSON PREPARED FOODS INC	1000	\$49.20	\$49,200.00
				cs	ASIAN FOOD SOLUTIONS	1000	\$95.90	\$95,900.00
				CS	OUT OF THE SHELL LLC DBA LINGS	1000	\$120.71	\$120,710.00
39	(USDA-P) CHICKEN LOT 1, CHICKEN NUGGETS, FULLY COOKED, 51% WHOLE GRAIN BREADING	N	1NL	cs	RICH CHICKS, LLC	5500	\$40.93	\$225,115.00
		Υ		cs	TYSON PREPARED FOODS INC	5500	\$41.34	\$227,370.00
	(USD A B) CHICKEN I GT 4 GUIGKEN BATTY BREAKGAS			CS	OUT OF THE SHELL LLC DBA LINGS	5500	\$116.62	\$641,410.00
40	(USDA-P) CHICKEN LOT 1, CHICKEN PATTY, BREAKFAST, FULLY COOKED, 1.6oz EACH BREAST WITH RIB MEAT, 51% WHOLE GRAIN BREADING	Y		cs	TYSON PREPARED FOODS INC	2000	\$24.00	\$48,000.00
	ALIONA DI GUILOVENI GETA GUILOVENI ESPERANTE			cs	RICH CHICKS, LLC	2000	\$40.93	\$81,860.00
41	(USDA-P) CHICKEN LOT 1, CHICKEN TENDERS, 51% WHOLE GRAIN BREADING, MADE WITH WHOLE MUSCLE PIECES, TYSON #70332-928 OR EQUAL	N	зто	CS	RICH CHICKS, LLC	1000	\$40.93	\$40,930.00
	The state of the s		٠٠٠	55		.000	Ţ-10.33	Ţ.3,000.00
		Υ		cs	TYSON PREPARED FOODS INC	1000	\$63.53	\$63,530.00
42	(USDA-P) CHICKEN LOT 1, CHICKEN BREAST FILET, SPICY, 51% WHOLE GRAIN BREADING, PRE-COOKED WHOLE MUSCLE, NATURAL SHAPE, TYSON #73012-928 OR SIMILAR	N	1NL	cs	RICH CHICKS, LLC	2000	\$46.63	\$93,260.00

		Award						Extended
Line#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
		Υ		Ce	TYSON PREPARED FOODS INC	2000	¢61 90	\$123,600.00
				00	THOUT RELAKED FOODS INC	2000	Ψ01.00	\$123,000.00
43	(USDA-P) CHICKEN LOT 1, CHICKEN SAUSAGE PATTY, BREAKFAST, PRE-COOKED, 1.43oz LOW SODIUM PATTY	Υ		cs	TYSON PREPARED FOODS INC	2000	\$37.89	\$75,780.00
44	(USDA-P) CHICKEN LOT 1, CHICKEN PEPPERONI, PRE- SLICED, COIN SHAPED, MADE WITH ALL DARK MEAT	Y		Ce	TYSON PREPARED FOODS INC	500	\$66.71	\$33,355.00
	(USDA-P) CHICKEN LOT 1, CHICKEN DRUMSTICKS, OVEN			00	THOUT RELAKED FOODS INC	300	Ψ00.71	\$33,333.00
45	ROASTED, BONE IN, FULLY COOKED, CONTAINS NO ALLERGENS	Υ		cs	TYSON PREPARED FOODS INC	2000	\$49.50	\$99,000.00
				cs	OUT OF THE SHELL LLC DBA LINGS	2000	\$123.91	\$247,820.00
46	(USDA-P) CHICKEN LOT 1, CHICKEN DRUMSTICKS, 51% WHOLE GRAIN BREADED, BONE IN, FULLY COOKED	Y		Cs	TYSON PREPARED FOODS INC	2000	\$55.13	\$110,260.00
40	(USDA-P) CHICKEN LOT 1, CHICKEN TACO MEAT, FULLY	•		0.3	T 130N FREFARED FOODS INC	2000	\$55.15	\$110,200.00
	COOKED GROUND CHICKEN 54/46% COMMODITY MEAT RATIO, DARK AND WHITE MEAT, NO FILLERS, PRE- SEASONED WITH MILD TACO SEASONING, FROZEN, BOIL-							
47	IN-BAG	Υ		cs	TYSON PREPARED FOODS INC	3000	\$19.12	\$57,360.00
	(USDA-P) CHICKEN LOT 2, ORANGE/TANGERINE CHICKEN, CRISPY, WHOLE MUSCLE, DARK MEAT CHICKEN GLAZED WITH ORANGE STYLE SAUCE. CHICKEN AND SAUCE TO							
48	BE PACKAGED SEPARATELY IN SAME CASE, NO MSG	N	1NL	cs	TYSON PREPARED FOODS INC	1000	\$75.54	\$75,540.00
				00	CUEFIG CODNED FOODS	4000	\$70.00	\$70,000,00
		N	1NL	CS	CHEF'S CORNER FOODS	1000	\$79.88	\$79,880.00
		N	зто	cs	ASIAN FOOD SOLUTIONS	1000	\$88.88	\$88,880.00
		Y		CS	OUT OF THE SHELL LLC DBA LINGS	1000	\$98.29	\$98,290.00
				cs	SCHWANS FOOD SERVICE	1000	\$137.52	\$137,520.00
	(USDA-P) CHICKEN LOT 2, GENERAL TSO CHICKEN,						***********	, , , , , , , , , , , , , , , , , , ,
	CRISPY, WHOLE MUSCLE, DARK MEAT CHICKEN GLAZED WITH TSO STYLE SAUCE, CHICKEN AND SAUCE TO BE							
49	PACKAGED SEPARATELY IN SAME CASE, NO MSG	N	зто	cs	TYSON PREPARED FOODS INC	500	\$75.54	\$37,770.00
		N	зто	Ce	CHEF'S CORNER FOODS	500	\$80.00	\$40,000.00
		IN .	31Q	- 03	CHEF 3 CORNER FOODS	300	\$50.00	\$40,000.00
		N	зто	cs	ASIAN FOOD SOLUTIONS	500	\$88.88	\$44,440.00
		Y		CS	OUT OF THE SHELL LLC DBA LINGS	500	\$109.16	\$54,580.00
				cs	SCHWANS FOOD SERVICE	500	\$109.18	\$54,590.00
	(USDA-P) CHICKEN SAUSAGE BISCUIT, INDIVIDUALLY							
50	WRAPPED IN OVENABLE FILM, 51% WHOLE GRAIN	Y		cs	TYSON PREPARED FOODS INC	800	\$72.81	\$58,248.00
51	(USDA-P) CHICKEN SAUSAGE BREAKFAST SANDWICH WITH EGG WHITE, INDIVIDUALLY WRAPPED IN OVENABLE PACKAGING, 51% WHOLE GRAIN			cs		800	NB	NB
52	(USDA-P) CHICKEN, BREADED BONELESS WINGS, HOT AND SPICY, 51% WHOLE GRAIN BREADING, MADE WITH WHOLE MUSCLE BREAST PIECES	N	1NL	cs	RICH CHICKS, LLC	1000	\$46.63	\$46,630.00
						- 550	5.55	- 3,000.00
		Υ		cs	TYSON PREPARED FOODS INC	1000	\$61.50	\$61,500.00
53	(USDA-P) CHICKEN WINGS, BONELESS, 51% WHOLE GRAIN BREADING, MADE WITH WHOLE MUSCLE PIECES	N	1NL	CS	RICH CHICKS, LLC	1000	\$46.23	\$46,230.00
	13333						Ţ.0.20	Ţ : 1,200.00
		Υ		cs	TYSON PREPARED FOODS INC	1000	\$60.00	\$60,000.00

		Award						Extended
Line#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	(USDA-P) CHICKEN TENDERS, HOT AND SPICY, 51% WHOLE GRAIN BREADING, MADE WITH WHOLE MUSCLE							
54	PIECES, FULLY COOKED	N	1NL	CS	RICH CHICKS, LLC	1000	\$46.13	\$46,130.00
		Υ		CS	TYSON PREPARED FOODS INC	1000	\$63.53	\$63,530.00
	(USDA-P) CHICKEN TENDERS, 51% WHOLE GRAIN							
55	BREADING, MADE WITH WHOLE MUSCLE PIECES	N	1NL	CS	RICH CHICKS, LLC	1000	\$45.73	\$45,730.00
		.,		00	TVSON PREPARED FOODS INC	1000	\$63.53	\$63,530.00
		Y		LS	TYSON PREPARED FOODS INC	1000	\$03.53	\$65,53U.UU
	(USDA-P) CHICKEN BONELESS HOT WINGS, 51% WHOLE GRAIN BREADING, WHOLE MUSCLE PIECES COATED IN A							
	ZESTY BUFFALO STYLE SAUCE, CHICKEN AND SAUCE TO							
56	BE PACKAGED SEPARATELY IN SAME CASE, NO MORE THAN 350mg SODIUM PER CN SERVING			cs		1000	NB	NB
	######################################							
	(USDA-P) CHEESE LOT 1, CHEESE CHEDDAR, SHREDDED, MILD, STANDARD SHRED LENGTH AND SIZE, ALL							
57	NATURAL CHEESE, LAND O LAKES #41749 OR EQUAL	Υ		CS	BONGARDS CREAMERIES	2800	\$10.15	\$28,420.00
					ADVANTA OF WAYDON: - · · ·			***
				CS	ADVANTAGE WAYPOINT LLC	2800	\$11.10	\$31,080.00
58	(USDA-P) CHEESE LOT 1, CHEESE, AMERICAN, PRE- SLICED, LAND O LAKES #46255 OR EQUAL	Y		CS	BONGARDS CREAMERIES	2000	\$17.40	\$34,800.00
30	SEIGED, LAND O LAKES #40233 ON EQUAL	Y		US	BONGARDS CREAMERIES	2000	φ17.40	\$34,800.00
				cs	ADVANTAGE WAYPOINT LLC	2000	\$23.40	\$46,800.00
	(USDA-P) CHEESE LOT 1, CHEESE, MOZZARELLA,					2000	\$20110	\$ 10,000.00
59	STANDARD SHRED LENGTH AND SIZE, LOW MOISTURE, PART SKIM , ALL NATURAL	Υ		cs	BONGARDS CREAMERIES	600	\$9.90	\$5,940.00
				cs	ADVANTAGE WAYPOINT LLC	600	\$10.90	\$6,540.00
				cs	NATIONAL FOOD GROUP INC	600	\$27.20	\$16,320.00
	(USDA-P) CHEESE LOT 1, CHEESE, STRING, INDIVIDUALLY							
60	WRAPPED 1oz PORTIONS, 100% MOZZARELLA, MINIMUM 60 CALORIES AND MAXIMUM 100mg SODIUM	Υ		cs	BONGARDS CREAMERIES	2500	\$12.81	\$32,025.00
				cs	ADVANTAGE WAYPOINT LLC	2500	\$12.92	\$32,300.00
				cs	NATIONAL FOOD GROUP INC	2500	\$63.00	\$157,500.00
	(USDA-P) CHEESE LOT 1, CHEDDAR CHEESE CUPS, MINIMUM 120 CALORIES AND MAXIMUM 100mg SODIUM							
61	PER 3oz CUP, LAND O LAKES #39942 OR EQUAL	Υ		cs	ADVANTAGE WAYPOINT LLC	500	\$50.66	\$25,330.00
	(USDA-P) CHEESE LOT 2, CHEESE SAUCE, SHELF STABLE, PRESERVATIVE FREE, MINIMUM 120 CALORIES							
	AND MAXIMUM 9 FAT GRAMS PER 3oz SERVING, MAXIMUM 550mg SODIUM, LAND O LAKES #39940 OR							
62	EQUAL	N	8DB	cs	JTM PROVISIONS CO INC	2800	\$28.00	\$78,400.00
	(USDA D) CUETCE LOTA ITALIAN (MUTE) CUETCE	Y		CS	ADVANTAGE WAYPOINT LLC	2800	\$37.17	\$104,076.00
	(USDA-P) CHEESE LOT 2, ITALIAN (WHITE) CHEESE SAUCE, SHELF STABLE, MINIMUM 120 CALORIES AND							
	MAXIMUM 10 FAT GRAMS PER 3oz SERVING, MAXIMUM 550mg SODIUM, PRESERVATIVE FREE, LAND O LAKES							
63	#39944 OR EQUAL	Υ		CS	ADVANTAGE WAYPOINT LLC	500	\$42.14	\$21,070.00
	(USDA-P) CHEESE LOT 2, MACARONI & CHEESE, REDUCED FAT, REDUCED SODIUM, 51% WHOLE GRAIN							
64	MACARONI, READY TO SERVE, LAND O LAKES #43274 OR EQUAL	N	8DB	cs	JTM PROVISIONS CO INC	3500	\$32.51	\$113,785.00
								., ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		N	8DB	cs	GLANBIA NUTRITIONALS INC	3500	\$35.15	\$123,025.00

Line#	Item Description	Award	Reason	UOM	Supplier	Qty	Price	Extended Price
Lille#	ten bescription	(1 / N)	Reason	OOM	Supplier	Qty	Price	Frice
		Υ		cs	ADVANTAGE WAYPOINT LLC	3500	\$41.40	\$144,900.00
	(USDA-P) CHEESE LOT 2, COLBY-JACK CHEESE CUBES,							A46 5 (5.5
65	INDIVIDUALLY WRAPPED 1oz PORTIONS	N	8DB	CS	BONGARDS CREAMERIES	1000	\$12.81	\$12,810.00
		Y		cs	ADVANTAGE WAYPOINT LLC	1000	\$31.87	\$31,870.00
	(USDA-P) CHEESE LOT 3, TACO ROLL, COOKED BEEF AND CHEESE, NO BEANS, 51% WHOLE GRAIN FLOUR				*FOSTER POULTRY FARMS DBA FOSTER			
66	TORTILLA (USDA-P) CHEESE LOT 3, BURRITO OR CHALUPA, BEAN	Υ		cs	FARMS			
67	AND CHEESE, 51% WHOLE GRAIN BREAD COMPONENT, 4.75oz OR GREATER	Υ		cs	*FOSTER POULTRY FARMS DBA FOSTER FARMS			
	(USDA-P) CHEESE LOT 3, BURRITO OR CHALUPA, BEAN			cs	INTEGRATED FOOD SERVICE	3000	\$41.45	\$124,350.00
68	AND CHEESE, SPICY FLAVOR, 51% WHOLE GRAIN BREAD COMPONENT, 4.75oz OR GREATER	Y		cs	*FOSTER POULTRY FARMS DBA FOSTER FARMS			
	(USDA-P) CHEESE LOT 3, ENCHILADA, THREE CHEESE,				*FOSTER POULTRY FARMS DBA FOSTER			
69	51% WHOLE GRAIN CORN TORTILLA, BULK PACK	N	зто	cs	FARMS			
		Υ		cs	INTEGRATED FOOD SERVICE	3000	\$27.61	\$82,830.00
	(USDA-P) CHEESE LOT 3, QUESADILLA, CHEESE, INDIVIDUALLY WRAPPED, MIXED CHEESE IN A 51%				*FOSTER POULTRY FARMS DBA FOSTER			
70	WHOLE GRAIN TORTILLA	Y		cs	FARMS			
				cs	SCHWANS FOOD SERVICE	2000	\$47.88	\$95,760.00
	(USDA-P) CHEESE LOT 3, CHEESE, TURKEY SAUSAGE OR			CS	TASTY BRANDS LLC	2000	\$57.31	\$114,620.00
	TURKEY HAM AND EGG WRAPPED IN A 51% WHOLE GRAIN TORTILLA. INDIVIUALLY WRAPPED IN AN				*FOSTER POULTRY FARMS DBA FOSTER			
71	OVENABLE WRAP	Υ		cs	FARMS			
				cs	INTEGRATED FOOD SERVICE	2000	\$46.28	\$92,560.00
	(USDA-P) CHEESE LOT 4, CHEEZY BREAD, 51% WHOLE GRAIN, LOW MOISTURE-PART SKIM MOZZARELLA						,	+,
72	CHIESE, NO TRANS FATS	N	зто	cs	*NARDONE BROS BAKING CO INC			
			1811	Ce	SCHWANS EOOD SERVICE	2000	\$26.74	\$72.480.00
		N	1NL	- 03	SCHWANS FOOD SERVICE	2000	\$36.74	\$73,480.00
		N	зто	cs	NATIONAL FOOD GROUP INC	2000	\$44.00	\$88,000.00
	(USDA-P) CHEESE LOT 4, MINI CRESCENTS, STEAK AND	Y		CS	GIORGIO FOODS INC	2000	\$49.66	\$99,320.00
73	CHEESE, 51% WHOLE GRAIN CRUST, GEORGIO FOODS #10573 OR EQUAL	Y		cs	GIORGIO FOODS INC	1000	\$40.83	\$40,830.00
	(USDA-P) CHEESE LOT 4, MINI CRESCENTS, TURKEY PEPPERONI AND CHEESE, 51% WHOLE GRAIN CRUST,							
74	GEORGIO FOODS #9073 OR EQUAL	Υ		cs	GIORGIO FOODS INC	3000	\$29.18	\$87,540.00
75	(USDA-P) CHEESE LOT 4, EMPANADAS, BLACK BEAN, 51% WHOLE GRAIN DOUGH	Υ		cs	GIORGIO FOODS INC	1000	\$42.94	\$42,940.00
	(USDA-P) CHEESE LOT 5, BREADSTICK, MOZZARELLA							
76	CHEESE STUFFED, 51% WHOLE GRAIN, 6"	N	1NL	cs	CONAGRA FOODS INCORPORATED	2000	\$21.06	\$42,120.00
		N	1NL	Ce	*NARDONE BROS BAKING CO INC			
		IV	TIAL		NAME OF THE PROPERTY OF THE PR			
		Υ		cs	TYSON PREPARED FOODS INC	2000	\$29.56	\$59,120.00

		Award						Evtonded
Line#	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price
				cs	SCHWANS FOOD SERVICE	2000	\$30.78	\$61,560.00
				cs	TASTY BRANDS LLC	2000	\$36.33	\$72,660.00
						2000	\$00.00	472 ,000.00
77	(USDA-P) CHEESE LOT 5, PRETZEL STICK, CHEESE STUFFED, PACKAGED WITH PAPER SLEEVE FOR SERVICE	Υ		Ce	TYSON PREPARED FOODS INC	750	¢10 18	\$14,385.00
- ' '	(USDA-P) CHEESE LOT 5, BREADSTICK, PEPPERONI,			CS	T TOON PREPARED POODS INC	750	\$19.10	φ14,363.00
70	PIZZA SAUCE, AND MOZZARELLA CHEESE STUFFED, 51%		4811	-	SCHWANS FOOD SERVICE	2000	£24.40	£42.200.00
78	WHOLE GRAIN BREAD, 7"	N	1NL	CS	SCHWANS FOOD SERVICE	2000	\$21.19	\$42,380.00
				00	TYGON PREPARED EGGROUNG	0000	604.04	£40.000.00
		Υ		CS	TYSON PREPARED FOODS INC	2000	\$24.34	\$48,680.00
				cs	*NARDONE BROS BAKING CO INC			
	(USDA-P) CHEESE LOT 6, LASAGNA ROLL UP, 5 CHEESE							
79	FILLING, 51% WHOLE GRAIN	N	3TQ	CS	NATIONAL FOOD GROUP INC	1000	\$42.00	\$42,000.00
	## ## ## ## ## ## ## ## ## ## ## ## ##	Υ		cs	TASTY BRANDS LLC	1000	\$46.19	\$46,190.00
	(USDA-P) CHEESE LOT 6, BREAKFAST TURKEY SAUSAGE, CHEESE, AND GRAVY TOAST, INDIVIDUALLY WRAPPED IN							
	OVENABLE WRAP, 51% WHOLE GRAIN CRUST, BAGEL, TOAST, OR FLATBREAD ACCEPTABLE, SAUSAGE AND							
80	COUNTRY GRAVY STYLE	N	1NL	cs	*NARDONE BROS BAKING CO INC			
		Υ		Ce	TASTY BRANDS LLC	1200	\$46.82	\$56,184.00
		•		00	TAGT BRANDS EEG	1200	ψ-10.02	\$30,104.00
				cs	CONACDA ECODS INC	1200	¢51 50	\$64.924.00
				CS	CONAGRA FOODS INC	1200	\$51.52	\$61,824.00
0.4	(USDA-P) CHEESE LOT 6, MINI CHEESE RAVOLI, 51%			-00	NATIONAL FOOD OPOUR ING	4000	£40.00	* 40 000 00
81	WHOLE GRAIN PASTA	N	1NL	CS	NATIONAL FOOD GROUP INC	1000	\$42.00	\$42,000.00
	(USDA-P) CHEESE LOT 6, CHEDDAR CHEESE OMLETE IN	Y		cs	TASTY BRANDS LLC	1000	\$56.65	\$56,650.00
	51% WHOLE GRAIN PITA POCKET BREAD, INDIVIDUALLY							
82	WRAPPED	Y		CS	TASTY BRANDS LLC	1200	\$72.25	\$86,700.00
	(USDA-P) CHEESE LOT 7, PIZZA, CHEESE, 16", BAKE TO							
	RISE, ROLLED EDGE, 100% REAL SKIM MOZZARELLA, 51% WHOLE GRAIN-WHITE WHOLE WHEAT FLOUR TO BE							
83	FIRST INGREDIENT, ALPHA FOODS #SP162RW OR EQUAL	N	1NL	cs	ROSE & SHORE	1800	\$37.60	\$67,680.00
		Υ		cs	ALPHA FOODS CO	1800	\$39.00	\$70,200.00
				cs	*NARDONE BROS BAKING CO INC			
				cs	SCHWANS FOOD SERVICE	1800	\$43.58	\$78,444.00
	(USDA-P) CHEESE LOT 7, PIZZA, PEPPERONI, 16", BAKE							
	TO RISE, ROLLED EDGE, 51% WHOLE GRAIN-WHITE WHOLE WHEAT FLOUR TO BE FIRST INGREDIENT, 100%							
	REAL SKIM MOZZARELLA CHEESE, COIN SHAPED							
84	PEPPERONI, ALPHA FOODS #SP164RW OR EQUAL	N	1NL	CS	ROSE & SHORE	5000	\$40.80	\$204,000.00
		Υ		CS	ALPHA FOODS CO	5000	\$41.00	\$205,000.00
				cs	*NARDONE BROS BAKING CO INC	1		
				cs	SCHWANS FOOD SERVICE	5000	\$46.88	\$234,400.00

		Award						Extended
Line#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
85	(USDA-P) CHEESE LOT 8, PIZZA, CHEESE, WEDGE SLICE WITH ROUNDED EDGE, 51% WHOLE GRAIN CRUST, 100% MOZZARELLA, PRE-PORTIONED, PRE-SCORED WITH PAN LINERS, 250 MINIMUM CALORIES, MAXIMUM 15g FAT, MINIMUM PORTION SIZE 4.5oz	N	зто	cs	CONAGRA FOODS INC	2000	\$22.10	\$44,200.00
		Υ		cs	*NARDONE BROS BAKING CO INC			
				cs	SCHWANS FOOD SERVICE	2000	\$26.06	\$52,120.00
				cs	ROSE & SHORE	2000	\$34.65	\$69,300.00
	(USDA-P) CHEESE LOT 8, PIZZA, PEPPERONI, WEDGE SLICE WITH ROUNDED EDGE, 51% WHOLE GRAIN CRUST, 100% MOZZARELLA, PRE-PORTIONED, PRE-SCORED WITH PAN LINERS, 250 MINIMUM CALORIES, MAXIMUM 15g FAT,						***	
86	MINIMUM PORTION SIZE 4.5oz	N	3TQ	CS	CONAGRA FOODS INCORPORATED	4000	\$26.46	\$105,840.00
		.,		00	*NARRONE PROS RAVING CO INC			
		Υ		LS	*NARDONE BROS BAKING CO INC			
				Ce	SCHWANS FOOD SERVICE	4000	\$20.59	\$122,320.00
				03	SCHWANS FOOD SERVICE	4000	φ30.30	\$122,320.00
				cs	ROSE & SHORE	4000	\$36.45	\$145,800.00
87	(USDA-P) CHEESE LOT 8, PIZZA, BREAKFAST, 51% WHOLE GRAIN CRUST, SAUSAGE & COUNTRY GRAVY STYLE, FOR OVEN FINISHING	Y			*NARDONE BROS BAKING CO INC			, , ,
				cs	CONAGRA FOODS INC	1800	\$28.52	\$51,336.00
				cs	SCHWANS FOOD SERVICE	1800	\$32.74	\$58,932.00
				cs	ROSE & SHORE	1800	\$33.12	\$59,616.00
				cs	ALPHA FOODS CO	1800	\$33.71	\$60,678.00
00	(USDA-P) CHEESE LOT 8, BREAKFAST SAUSAGE & GRAVY BAGEL, INDIVIDUALLY WRAPPED IN OVENABLE WRAP, 51% WHOLE GRAIN CRUST, SAUSAGE & COUNTRY	v		CS	*NADDONE BROS BAKING GO ING			
88	GRAVY STYLE	Υ		CS.	*NARDONE BROS BAKING CO INC			
89	(USDA-P) SANDWICH, GRILLED CHEESE, 51% WHOLE GRAIN BREAD, INDIVIDUALLY PACKAGED	Y		cs	INTEGRATED FOOD SERVICE	1000	\$34.70	\$34,700.00
				cs	*ES FOODS			
90	(USDA-P) WHOLE GRAIN SOURDOUGH GRILLED CHESSE WITH TURKEY BACON, INDIVIDUALLY WRAPPED IN OVENABLE WRAP, SERVED FOR BREAKFAST	NA		cs	INTEGRATED FOOD SERVICE	2000	\$39.34	\$78,680.00